RRB Sccundcrabad Sr. Section Engincers Exam

(Held on 21-12-2014)

SECTIONM |
ENGLISH VERSION

1. Wihen donor bype impunity i€ added 1o 3 Semi-contuctor material
(A} elecirons are generatod and matanal is N-Type
{8} electrons arc generated and matenal s P- ppo
(G} hotes aro g ted and m | ig called P-1ype
(O} holes are gencrated and matanal i caliad N-Type

i To inciease bandwidth, the dictibuled amplier uhbres
{41 common base configuration (B)  Tramgmisgion line

(C) twreed Circuit (D) Cascade ampisfior
a A pen junciion divde’s dynamie conductanco i diracily propomanal 1o
(&) Ihe applied vollage {B) the temparature
(C) s current (D) the thermal veltage
a. King cinsers are relaled o
(&) doars And wWindows (D) King post truss
[C] Cuen Fost russ {0} Bnck Masonry
5. Seasoning of imber is required lo
(A} Soften the imber i{B) Harden the lmbar
{C] Straighten the imbar (D) Remove sap lrem the timber

& Batching in concrate refers 1o
{#) Controlling the total quantly af sach Datch
(B} Weghing sccurataly, Ihe quantiy of each matenal fgr a job belore
mixing
(C) Contralling the quantity of each material ima each batch
(D) Adjusting the water to be added in each hatch according o e
moisturs conteal of the malerials being mased in he batch

T. Gypsum is used 03 an admixture in camaent grouts for
(A} accelerating the sotling tme
(B retarding the selttng time
(C) moreasing the plasteity
(D reducing the grout shrinkage

B The maximum defection of a fiked beam carrying a central lad W is soqual
10 (other nolations standard)
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A simply supported beam is loaded as below
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What is the radius of Mohr's cirche in case of bi-axiad state of siress 7
(A) Half the sum of the two principal siresses

(B} Hall the difference of the two principal stresses

{C) Differgnce of the two principal streszes

(0)  Sum of the two principal stresses
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What ia the moment al A for a frame shown'below |
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Each verlical memier has very large Moment of Ingnia
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A structure has two degree of indeterminacy. The number of plastic hingea
that would be formed al complete collapse &
(Aa) O {B) 1 cy 2 o 2

Fof laminar fiow between paraliel plates separated by 3 distance 2h, head
loss vanes

(A nimetly as n () inversely as n

{C} directly as h* D} Inversely as h®

In Surveying, Offsels are

(&) lateral measuraments made with respect lo main survey line

{B) perpendiculars evecled lrosm chain ines

{C} taken to avoid unnecessary walking between stalions

(DY measurements which ame nol made al right angles io the chain line

The true length of a kne is known o be 200 m. When this is measured
with & 700 m m@apa, the langth i$ 20008 m. The coffect length of the 20 m
lape is

(A) 18.82m (B} 1988 m

(C} 2004 m D} 2008m

Shear failure of soils lakes place when

(&) the angle of abliguity is masimum

{B) maxdmum cohesion is reached in cohesive sails
{C} ¢ reaches its maximum value in cobesionless soils
(U} residual strength of the eod i exhausted
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What is the process of ulllizing one data link for transmission of a growp of
vanables known as ?

(A Encoding (R) Decoding

(G} Demuiiplexing [0} Mulliplaodng

In arder to increase the range of a voltmeter
(Al a low resistance is connecled in parallel
(B) & low resistance is connectad in senies
(3) @ high resistance is connectod in parallel
(L) aMgh resietance is conneoled in series

The internal resistance uf the mliammeter must be very low for
(A} high accuracy

{B) high senzimnty

{C; minimum eficat on tha cumrent in the circuit

(0} maxiroum voltage drop acioss the meter

In omdar to have fas1, steady and accurato responses, the molors should
hanvg

(A} Critical damping

By Under darmgaing

(C) & wery high damping coetficient

(D) Mo damping

In case of overdamping. the instrument will becomes

{4} Oscillating (B) odead

(0] fas1 and sensibive (D} slow and lethargec

In reference to Acid rain, what is comect stalerment.

(&) The pH value is below 5.6

(B} I vwturs due o presence of sulphunic acid or nitng acid in tha
AIMOGHners

1€} Maximum acid is due o strong Carbanic Acid

(D) Acid rain affects ecosystem

In Giohal Warming, the majer contribution is due te

{8) Carbon emiseion (B) Agriculture

{C) Delorestation (D) Industry

Which of the follnwing meehanksms is NOT for removing particulate matter
fram gas streams,

(A} Gravitational settiing (D) Centrifugal mpaction

(C) EClectrosiafic precipitation () Burning the paricuiate

Which ane of the following i NOT Biotic companents of ecology.

(&} Concumars (B} Producers

(S} Decomposers {0 Climate
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watch Col, X (Resull) and Col. Y (Cause)

Cal, X ColL Y
(P} Water pollution 1. Combuslion of focsi fucl
(Q) Air pollution 2.  Decaying of organic matter
(R} Moise pollution 3. Pesticides
(%) Sall palition 4. High declbel
(&) P-2,0-1, B4, 53 (B) P, 0-2, Ha4, 5.3
(C) P3,C1,R2.84 o) P1,Q23R2 54
Part of the Computer wise data and istiuchions ae held is
tA) Register Unit (B)  Arcumatn
{€) Memory Unit o) cPu

I & Computer, Assembler is
(&) a program that places programs into memory and prepares e (o

aXECUlon

(B} a program that automate the transkalion of ascembly language info
machine language

(C) =\ program that accepls & program wmillen inoa begh kel Bogoage
and produces an dﬂ]ﬂl program

(D) is a program that appears to execule a aource progranm it it ware
- machine language

wnich of the following Is NCT a register In Compaster ?
{A)  Accumulator [B) Stack Pointar
(G} Program Counler (D) Bufler

Which MNensnrk protocol s used o send e-mail 7
2] FIP [B) S5H C) POF3 (D) SWTP

The use of a cache in Computer syslem increases lhe
{A)  avaitable memory space fo the program

(B} available memory space for the dala

{C) availoble cpeed of memory access

(D) addressing range of CPU

A microprocessnt has 24 addmess lines and 32 data lines. |7 it uses 10 bis
of opaede, tha size of its Memory Bullor Register is

(A} 22 bits (B) 24 bits

(C) 32 bits (D) 14 bits

In @ microprocessor when a8 CPLU s inlarfupled, it

(M) Stlops execution of inclructions

(B) Acknowledges interrupt and branches off subrouline

(C) Acknowledges interrupt and conlinues

(D) Acknowiedges interrupl and waitg for the next insiructian from ne
Interrupting device
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The MODEM is used with a personal gomputer to do which of the
followusing 7

(&) Convert from serial io paraliel and vice versa

(B) Conver signale betwean 1TL and RS232 C standard and vick varsa
(G} Convert from digital 1o analeg signals and vice varea

{0V To conver the compuler o a long distance communication link

Tha term digitization refers 1o

(&) comversion of analogue inio digital

(B] conversion of digial into analogue
{C) use of analogue form of ahectncity
() & fonm of changing physical guanttes

Which ie MOT a Wireless Technology.
(A} Blue Tooth {B) A conventional lelaphone
Gy Wil (0} Wi-Max

In an Engineenng draving, in double stroke Gothic lellering. which is
comeel,

(&) Letters are drawn thin

{(B) The lettering template is used to draw the outling of lotter

(&} This s not prefered for ink drawings

(D} Thie ris Raving non-uniform ne widih

Match Col. X (Category) and Col. Y (Recommendad Scala) in refarence 1o
an Enginewring drawing.

Col X Gl ¥
P Enlarging Sealo 1. 1:500
& Full Scaie 2. 10:1
R Reducing Scale 3 11
4 1.20
(A) P=4. 0=1R=2P=3 (B) P=2 0=3.R=-4.R-1
C) P-1.Q=3 R=2 P-4 0y P=20=-1R=-4.0-2

If RAF is 1/60000 and distance to be ghown on drawing & 7.5 km. what is
{iwe hemigthy of fine on drawing 7

(&) 125cm (A} ®&cm (G 45cm (D) 10cm

A parabola con be consirucled on a drawing by the mathods EXCEPT
{A) Eccentnicity Method (8) Rectangle Method

(G} Parali=logram Melhuod (D) Asymptote Method

Which of the Statemants ic NOT comect

{A) Iscmetric acale is vaed lo draw isometne projecbion
{B) Isomelic scale is not used to draw isometric view
(C) A squane is seen as recltangle in isemelnc

{0} A rectangle is seen as paralisiogram in isomelnic
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A parbcle moves along a crcular path wath conatanl speed What is the
nalure of its acceleration
{A) Itis zero (B) It Unafiarm

{C) e direction changes (B} Its magnilude changes

A body 18 al resr on the surface of e earth. Which of tha fallewing
Statemanlts i corrgel 7

{A) Mo force is acting on the body

(B} Onty weight of the body acte on it

1) Mol downward faree is equal to net upward lorce

(D) MNene of these is coredt

The Specific Hool of the gas in an molhemal process is
(A} Zero (B) Infinas
(L) Magalve {D) Remains constant

in & Simple Harmonic Cscillator, a1 the mean posilion

(A) Kinetic Energy is minimum, Potantial Energy s maximum
{B) Baoth Kmetic and Potential Energies are maximigm

(C} Kinghc Enargy ie maximum, Potential Encrgy is minimum
ID}  Both Kinetic and Patential Energies ane mimmum

Mirage is a phenamenon dua to
(A} Reflecton of ight (B} Refraction af lign
{C] Total indernal reflecton of light (D) Diffraction of light

Wihich of the foliowing cannol be speac.time (v.U) graph of a body m
matian ¥

v "
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(A} (B} I ]
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e o t

AR S AUMBDEr, Ny Means

(A} number of protens in nucleus of an atom

(8) number of atoms in cne gram atom of an alament

(L) sum of the number of protons and the neutrans in the nucleus of an
atom .

(D} number of protang o slectrons in ong gram of Sedum
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